Y pcal Calibration Parameters (2025-05-15)

V_Tx1 bg:

0.007646 + 0.002563 (33.51%)
V_Tx2_bg:

0.010175 % 0.002563 (25.19%)
V_Rx_bg:

-0.004644 + 0.000059 (-1.27%)
apha RxPDpWSK 1.

0.127191 + 0.000137 (0.11%)
apha RxPDpWSK _2:

0.125871 + 0.000142 (0.11%)
apha TxPD1pWSK:

0.701924 + 0.000741 (0.11%)
alpha_TxPD2pWSK:

0.258892 + 0.000300 (0.12%)

e 1.
0.981202 + 0.001451 (0.15%)
e 2
0.974901 + 0.001475 (0.15%)
SP_1:
ca_SP P norm:
0.499780 + 0.001014 (0.20%)
ca_SP V_norm:

0.501851 + 0.000785 (0.16%)
SP_RxPD_norm_dan:

0.503422 + 0.002328 (0.46%)

SP_2:

ca_SP P norm:

0.500220 + 0.001015 (0.20%)
ca_SP V_norm:

0.498149 + 0.000848 (0.17%)
SP_RxPD_norm_dan:

0.496578 + 0.002328 (0.47%)
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